

Letting:

#### Florida Department of Transportation

11/02/2018

Page 1 of 1

**Vendor Ranking** 

ΑM

04181102

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 43781027201 (\*)

Contract Desc: TREASURE COAST SIDEWALK RECONSTRUCTION - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES LLC	Non Responsive	Non-Winning Bid	\$298,089.00	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$373,244.35	125.21%
3	CONCRETE SERVICES, LLC	Responsive	Non-Winning Bid	\$377,702.00	126.71%
4	DBI SERVICES, LLC	Responsive	Non-Winning Bid	\$388,803.00	130.43%
5	ENGECON CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$413,628.00	138.76%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 11/20/18 BEGIN TIME: 10:30 AM

END DATE: 11/27/18 END TIME: 10:30 AM





#### **Tabulation of Bids**

Page 1 of 4

Letting:04181102November 02, 2018Call Order:001Contract:E4T27District:District 4Counties:DIST/ST-WIDEFed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 43781027201 (\*)

Contract Descr: TREASURE COAST SIDEWALK RECONSTRUCTION - ROUTINE MAINTENANCE

The work under this contract consists of providing all labor, equipment, materials and incidentals necessary to perform miscellaneous sidewalk work in District Four Counties on all primary roads.

MAXIMUM LIMITING: The award amount and the contract performance bond shall be based on the maximum limiting budgeted amount of \$300,000.00 and not the contractor's bid total.

Line No / Item ID Alternate Item Description		Quantity Units	(1) HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) CONCRETE SERVICES, LLC		
() indicates item is bid as Lump Sum				Unit Price	C Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 S	ODDING (SY)						
0005 REMO\	0110 4 10 /AL OF EXISTII	NG CONCRETE	150.000 SY	15.00000	2,250.00	12.93000	1,939.50	90.00000	13,500.00
0010 CONCF	0520 1 10 RETE CURB & 0	GUTTER, TYPE	1,000.000 F LF	16.00000	16,000.00	28.00000	28,000.00	29.50000	29,500.00
	0522 1 RETE SIDEWAL WAYS, 4" THIC		3,396.000 SY	48.00000	163,008.00	55.35000	187,968.60	49.00000	166,404.00
	0522 2 RETE SIDEWAL WAYS, 6" THIC		2,000.000 SY	48.00000	96,000.00	65.35000	130,700.00	59.50000	119,000.00
0025 DETEC	0527 2 TABLE WARNI	NGS	1,019.000 SF	16.00000	16,304.00	14.65000	14,928.35	39.00000	39,741.00
0030 SODDII	E575 1 NG		1,006.000 SY	4.50000	4,527.00	9.65000	9,707.90	9.50000	9,557.00



11/02/2018

## **Tabulation of Bids**

Page 2 of 4

Letting:	04181102	No	vember 02,	2018 <b>(</b>	Call Order: 001		Contract:	E4T27	
		(1) HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) CONCRETE SERVICES, LLC			
	em is bid as Lump	Sum	O.m.o	Unit Price	LLC Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SODDING (SY) 0001 SODDING (SY) Section Totals:				\$298,089.00	\$373,244.3		\$377,702.00		
	Contra	ct Gran	nd Totals:		\$298,089.00		\$373,244.35		377,702.00





**Contract Grand Totals:** 

## **Tabulation of Bids**

Page 3 of 4

Letting:	04181102	November 02,	, 2018 <b>Ca</b>	II Order: 001		Contract:	E4T27	
Line No / Item ID Alternate Item Description		ernate Quantity Units	(4) DBI SER	(4) DBI SERVICES, LLC		(5) ENGECON CONSTRUCTION INC.		
() indicate	es item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	SODDING (SY	7					
	10 4 10 OF EXISTING CON	150.000 ICRETE SY	10.00000	1,500.00	22.00000	3,300.00		
	20 1 10 E CURB & GUTTER	1,000.000 s, TYPE F LF	27.00000	27,000.00	32.00000	32,000.00		
CONCRETE	22 1 E SIDEWALK AND 'S, 4" THICK	3,396.000 SY	60.00000	203,760.00	57.00000	193,572.00		
CONCRETE	22 2 E SIDEWALK AND 'S, 6" THICK	2,000.000 SY	62.00000	124,000.00	68.00000	136,000.00		
	27 2 LE WARNINGS	1,019.000 SF	27.00000	27,513.00	36.00000	36,684.00		
0030 E5 SODDING	75 1	1,006.000 SY	5.00000	5,030.00	12.00000	12,072.00		
	0001 SODDING (	SY) Section Totals:		\$388,803.00		\$413,628.00 <sup>'</sup>		

\$388,803.00

\$413,628.00



11/02/2018

### **Tabulation of Bids**

Page 4 of 4

**Letting:** 04181102 November 02, 2018

Call Order: 001

Contract: E4T27

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.